7- 4 Solving Rational Inequalities

| can solve rational inequalities graphically.

Solving Inequalities

when solving an inequality, your answer is the intervals
of x-values where the function (y values) meets thégiven
conditions

Example: f(x) > O&
OJOD\’OTOQQ‘S
report the x values for
where the y's are greater s
than zero f
N\ Wwey, B




Rational Inequalities
Goal: to find where the graph is (+) or (-) depending on the
inequality sign

1. Graph the function in your calculator. Be careful that the
entire denominator is in a set of parenthesis.

2. Find the x-intercept(s) and vertical asymptote(s).

3. Based on the inequality, determine if you are looking above
the x-axis ( f(x)>0 or f(x@O ) or below the x-axis

(f(x)<0 or f(x)GN)

4. Write the intervals using the x-values.

(Verticaf asyr?lptotes always have round parenthesis. The
inequality determines if x-intercepts have round parenthesis or
square brackets.) ( Y ar [ ]

Making a Sign Chart for a Rational Function
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Solve the rational inequality
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Solve the rational inequality
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Solve the rational inequality
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